Id 1

Question |y oeT fpe faIfr & fordYy St & 2
A o

B e

c SamTay

D gy

Answer |C

Id 2

Question | rfaf@a oreel & & rae [ar afr ¢ 2
A 3oodel

B forerer

c Toleg

P g

Answer B

Id 3

Question  faw 7w eregl & 3e[eq A=l aTeT g & -
A agd

S

C diceh

D 39T

Answer B




Id

Question | Frere eZietet § 2
A T8, 5, o
B T 3,38 ¢
C d4,9,g.9
D 9%, 9,8
Answer A
Id 5
Question 3137 & TR HYFd foFaT & foraet 81 @1 & 2
A 99
B 90
C 80
D 97
Answer A
Id 6
Question ‘g o7 ITYRUT-TATT AT § ?
A CodIsa
B T

o
C arel

)

D HUS
Answer A




Id 7

Question | Fga AT YROT o el aTel 2Me FAT Fgdlld & ?
A <

B it

C JHTEG

D SoTd T HIS ET

Answer B

Id 8

Question =13t & &ieT &Y ereg T & AT I FAAVOT AEF 2

A I9ATAT

B faafaa
C CIRED
D 3T9HTT

Id 9
Question  =13¥ & ieT-afr FoaT 2reg Y § 2
A 3rer- fRear

B YR - SIS

C Fol - R

D T - |

Answer B




Id 10

Question | FraAfaf@d & & 3UweT IR e § -

A I
)

B facer

c Hafos

D
aﬁar

Answer D

Id 11

Question | B borrows 5,000 from A at 6 % p.a. simple interest and lends it to C at compound interest
of 10 % p.a. If B collects the money back from C after 2 years and repays A, the profit
made by B in the transaction is
B ¥ 5,000 hr €I AT 6% HTYRUT sITST hl &< W YR ofdl & Jddr C &'
10% (p.a.) Thaeier SITT T & @ FUR & &aT ¢ | TG B,CH 2 a¥ 9aTd &
IICd &A1 § TAT AT aT9E Il & S Pol Iishal # B AT FHol Tohelall aTeT
§31‘r?

A Rs.1,050

B Rs.500

C Rs. 450

D Rs. 600

Answer C

Id 12

Question | One certain Principal if the Simple interest for two years is Rs 2400 and Compound
interest for the two years is Rs 2544, what is the rate of Interest?
s Afad RIffYa 39R & a1 & T IreRoTr s 2 4 059 3 & a1
& TOIU Thaefer A 2 5 4% §, Al ATl & T 872

A 12%

B 6%

C 24%

D 18%

Answer A




Id
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Question | Nitin borrowed some money at the rate of 6% p.a. for the first three years, 9 % p. a. for
the next five years and 13 % p.a. for the period beyond eight years. If the total interest
paid by him at the end of eleven years is Rs.8,160, the money borrowed by him (in Rs. )
was -
fAfde & Fo YRR Tgel 396% dT¥eh SATST &3, H9Tel 5 a9 %dlideh T 8
a¥y & S1E13% dIf¥eh sATef X 3UR ot Ife 1199 & 3T A 3§ Ff AT
Rs.8,160 37aTcllel &l gl §, dl 3UR of a1$ AR (Rs. & ) FAT|

A 12,000

B 6,000

C 8,000

D 10,000

Answer C

Id 14

Question | A shopkeeper allows 23 % commission on his advertised price and still makes a profit of
10 %. If he gains Rs.56 on one item, his advertised price of the item, in Rs. is
Teh GhleleR TaaTiid Hed W23% HaHNRIT & & STacigl0% el HAwT & |
ITE I g&] TR 56 o1 HA g, dl aE] H A Hod AT Y |

A 820

B 780

C 790

D 800

Answer D




Id
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Question | With a 5 % discount on the cost of sugar, a buyer could purchase 2 kg. more sugar for Rs.
608. Original selling price of sugar is.
Al dr HIAT H 5% H Fe A & dle, FI$ Aeeh 2 6087 2fh.am. SATEr el
Gl Fehl g1 dr Al @1 areafds AT qea & Bl

A Rs. 15.50

B Rs. 15

C Rs. 16.50

D Rs. 16

Answer D

Id 16

Question | In a factory 60 % of the workers are above 30 years and of these 75 % are males and the
rest are females. If there are 1350 male workers above 30 years, the total number of
workers in the factory is:
T Hherdl H 60 % FAART T 3H30aY F 3H&H § 3R 57 @ 75% J&T AT
AV Afgerd ¢ | fe 1350 T&T FAAMRAT T 35 30 a¥ & FW &, o ey A
Fel e Fa &2

A 3000

B 2000

C 1800

D 1500

Answer A




Id
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Question |40 men can complete a piece of work in 40 days. They started the work together. But at
the end of each 10th day, 5 men left the job. The work would have been completed in?
40 ST TRy T T 40 e A FT Hhd & | 3e6led Ueh AT HH HAT Y
frar | feheT g% 10 T & 3cRTer UX 5 oleT FIH ©I5 2 &, a F1e s
feaAt J gATCT e ?
2
A 56=days
3
1
B 53—=days
3
C 52 days
D 50 days
Answer A
Id 18
Question | If p men working p hours per day for p days produce p units of work, then the units of
work produced by n men working n hours a day for n days is
Ife P&y PuE idfes & e Pieal & PEfdie & #td & | df n &Y n
ge idfesT @A &t n &t # fhde gfae we waEr
A p?
n?
B p3
n?
C n?
p?
D n3
p?
Answer D




Id
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Question | The speed of the current is 5 km / hour. A motorboat goes 10 km upstream and back again
to the starting point in 50 minutes. The speed (in km / hour) of the motorboat in still water
is:

URT & el 5 fhAL/EeT § | Ueh AlISle URT & gfasgherlo e gt ax
A & dUT 50 AeIe 7 RS fog W o 3w S &, @ aid el &
AleXdie &1 arel ( fh.#AL/ae H) AT H?

A 20

B 26

C 25

D 28

Answer C

Id 20

Question | A distance is covered by a cyclist at a certain speed. If a jogger covers half the distance in
double the time, the ratio of the speed of the jogger to that of the cyclist is
T sfehel arell AfRed gt &1, ARET ot @ dF aXar § | U SR 384
el gt Y e HAT H TF AT ¢ | SR AT Arsfehel arell T el &l
3quTd AT FFSFT |

A 1:4

B 4:1

C 1:2

D 2:1

Answer A




Id
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Question | The ratio of the outer and the inner perimeter of a circular path is 23 : 22, If the path is 5
meters wide the diameter of the inner circle is :
JhR Y & S8 AT HedReh IRATGT S i 23:22 § | Ife 99 5 AeX
AteT &), v edRer 39T HT A AT HL?

A 110 m

B 55m

C 220 m

D 230 m

Answer C

Id 22

Question | In triangle PQR, points A, B and C are taken on PQ, PR and QR respectively such that
QC=ACand CR =CB. If QPR =40°, then £ACB is equal to:
APQR &, fdeg A BTUT CHAW: oIl PQ, PRTAUT QR W 3H YR faw oy foh
QC =AC JaT CR =CB, If¢ OIQPR=40° § ,d« DACB ATd &{?

A 140°

B 40°

C 70°

D 100°

Answer D




Id
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Question

Arun buys one kilogram of apples for Rs . 120 and sells it to Swati gaining 25 %. Swati
sells it to Divya and Divya again sells it for Rs. 198, making a profit of 10 %. What is the
profit percentage made by Swati?

3TROTRs. 1207 Ueh fohellamed A« WIGAT § 3iR25% oI & TATY 98 3o Tditd i
3T ¢aT § | FaITd 3o fEear & o & § St 3¢ T & feear 10% o &
JTURs.198 H o7 &Y § | Tarfa o fopdar ot gfaera 3ifeia forar =

25%

20%

16.67%

o0 m >

15%

Answer

B

Id
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Question

Of the three numbers, the second is twice the first and it is also thrice the third. If the
average of three numbers is 44, the difference of the first number and the third numbers
is:

et T3 A AT TEILIYH TEIT & 2 I & R dAT Jg T&qT &
3 I & SR § I el T3 7 AT 44 gal JUH HEIT aUl Jad

TEIT T I AT HY |

24

18

12

OO m >

6

Answer

C




Id

25

Question | The average of all prime numbers 21 to 50 is (round off to one decimal number)
21F 50a% I TN AT AT F IWET AT F | (Vh gUHAT &I
deh quiteh )

A 35.9

B 34.8

C 33.7

D 32.9

Answer A

Id 26

Question | The value of sec*A(1 — sin*A) — 2tan?Ais:

sec*A(1 — sin*A) — 2tan?A T HeT gI9T:

A 1
2

B 0

C 2

D 1

Answer D

Id 27

Question |3 men or 5 women can complete a work in 12 days. Accordingly, how much time will it
take for 6 men and 5 women to do the same work?
3TEY 7 SFEAAT U FRILRAT F R W TS §| AGTARGTRST dAr 5 et
F IET PR IS H fohdaT TAT Fm?

A 4 days

B 5 days

C 6 days

D 7 days

Answer A




Id
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Question | Three partners invested Rs. 42000, Rs. 48000 and Rs. 32000 respectively. partnership
condition is that, each will the get interest on his capital at the rate of 7 % p. a. and the
remaining profit will be divided in the ratio of their capitals. If at the end of the year the
total profit is Rs. 32940, then find the share of A in profit.

e SR & did ABIGRA, B d2UT C $haAgT: 42000, Rs.48000a2T Rs. 32000faer
A § | Wiy # AT Ig § T IhF el Gt W 7 % a1k aT @ ;TS
I ST oy & F &Y fem Swem aur QY ot 9 fAaAfT ol o eyareT A
91 | A Th I & Hed A FeT X 3204091 I EIM AT ITH F AF
feear &= grem ?

A Rs. 12960

B Rs. 11340

C Rs. 8640

D None of these

Answer B

Id 29

Question | The top of two poles of height 24m and 36 m are connected by a wire. If the wire makes
an angle of 60° with the horizontal, then the length of the wire is
24, T 36A. % 3Ta N3 N TH dR A ST ST § | I AR &fas 4@
60°FHT DIUT FATAT &1 dF dR HT TFAS AT B |

A 6m

B 8 V3 m

C 8m

D 6V3 m

Answer B




Id 30

Question | Two numbers are in the ratio 3 : 4. Their LCM is 84 . The greater number is:
al EEATIHT 3:4 & HeIUTd H §, 3o .F. 84 §, o 3T & 37 HEAT FAT g7

A 21
B 24
C 28
D 84

Answer C




ID 31-33
Question Type Comprehension
Main Text In each of the following questions find out the alternative which will replace
the questions mark.
A T I A% weeT A &) ZoH fod I B | T g oA &
all gal # Ush FFeeY I IT § aUT gE JIA HT U UE o°d ©
e o fashedl 7 @ a8 Rwed I S W A F 98 ¥ FAG
TFIYT QAT g |
Question Divorce : Marriage : : False : ?
does ; faarg : ; Ired ;2
A True
e
B Lie
¢lo
C Fiction
YT
D Story
Heglel
Answer A
Question Fire : Ashes : : Explosion : ?
30T W [ATpie ;2
A Flame
SdTlell
B Death
(.CO
C Debris
HeldTl
D Sound
eafel
Answer C
Question Goat : Bleat: : Dog : ?
SR - fAfAEEr o g 2
A Grunt




YIYITAT
Q9 O
B Bark
Hiehstl
C Howl
ISl
D Bray
ia(’E;HEH
Answer B
Id 34
Question | Pointing towards a person in the photograph, Anu said, “He is the only son of the father of
my sister’s brother.” How is that person related to Anu?
Th TEIR H Uh IfFd 1 3 AR A §T, e el ¢ fF "ag AN 561 &
s & faT &1 THATT qF ¥, 9% Afad 39 @ e yeR deftd g
A Father
Aar
B Mother
HIAT
C None of these
SAH ¥ &g oAdT
D Cousin
TN G
Answer |C




Id
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Question | Painting towards a bag, Reena said, “He is the son of only son of my grand Father.” How
is that boy related to Reena ?
Teh @Sh B B AR H §U, Uell Fgell & & "8 A g1 & wohaard G &
97 7| 9 oisehl a1 @ ford gehR geaiferd g2
A Cousin
TR TS
B Uncle
Bl
C Brother
TS
D None of these
SAH & HIg Aar
Answer C




ID 36-37
Question Type Comprehension
Main Text In each of the following questions, four words have been given out of which
three are alike in same manner, while the fourth one is different. Choose out the
different one.
T & I 9% 9l # IR Usq 6 I § o @ it ARaa
Tk & A g STafeh aidr dier O e g e ereg a1 Ao |
Question Choose the different word from the following.
AT & @ @ e gfad
A Sweater
BTy
B Shirt
AT
C Trouser
Yo
D Jacket
Sk
Answer C
Question Choose the different word from the following.
fAmT & @ et o giad
A Bus
Rz
B Truck
ch
C Cycle
arsfohel
D Scooter
N
Answer C




Id
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Question |If ‘BOMBAY" is written as ‘MYMYMY’. How will “TAMILNADU?” be written in that
code?
Teh e A9 H IfE ‘BOMBAY &I ‘MYMYMY’ far@r Sirar § 38 e oo &
‘TAMILNADU’ &1 & for@r Srem?

A TIATIATIA

B MNUMNUMNU

C IATIATIAT

D ALDALDALD

Answer B

Id 39

Question |In a certain, ‘DECEMBER’ is written as ‘ERMBCEDE’, which word will be written as
‘ERMBVENO in that code?
Teh e A9 H ‘DECEMBER’ 1 ‘ERMBCEDE’ for@r Sirdr & o 38 e amwr &
‘ERMBVENO’ fa#sT & & fhaehr &g grem?

A BERNOVEM

B NOVEMBER

C EMBERNOV

D NOVBEREM

Answer B

Id 40

Question |In a certain code, ‘MOTHER is written as ‘ONHURE’, how will be ‘ANSWER’ written
in that code?
T fAfRTd e s & ‘MOTHER’ &I ‘ONHURE’ fer@r Sirer & | 38 se amer &
‘ANSWER’ &I & for@r e

A NBXSSE

B NBWRRE

C MAVSPE

D NBWTRE

Answer D




ID
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Question Type Comprehension

Main Text In each of the following questions a number series is given with one tern
missing. Choose the correct alternative that will continue the same pattern and
fill in the blank spaces.
A o I Ul geA A U AN & I § SH ue ug oo
¢ |RY Reedt & & 39 a8 Rwew & G o & T Aol
3eTEOT AT & |

Question 25,75,35,70,45, .....?7 .......

A 65

B 60

C 55

D 85

Answer A

Question 82,25, 74, 40, 60, ...... 7 ........

A 65

B 55

C 60

D 72

Answer B




ID
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Question Type Comprehension

Main Text Study the following information carefully and answer the question given
gilgfv.c, D, E, F, G and H are sitting around a circular table facing centre. H is
fourth to the left of B and second to the right of F. A is third to the left of C,
who is not an immediate neighbour of F. G is second to the left of A. D is
second to the right of E.
A & AT S B eAYas afed qur G R weal & I
Qo |
AB.CDEFGTUN HT® e AT & URN R heg; T 3R HE Hleh
dS § |HB& aT¢ diar § aUT F& g g8 & |ACH ad e §
St F T 9Si 7 § |G,AS aTC gAT § | D,E G gEnT &

Question In which of the following pairs is the first person sitting on the immediate left
of the second person?
A o 3 fh| oA A ygen safad gl <afdd & TeheA AT dar
g |

A EH

B DB

C CE

D AF

Answer B

Question Which of the following pairs represents the immediate neighbours of E?
MY B T geAt F F FiFar oA EF gPE

A DH

B HC

C CA

D None of These

Answer B

Question Who is on the immediate right of H?
Hoh TohcH G el g7

A E

B C

C H

D F

Answer A




Id 46

Question | Arrange the words given below in a meaningful sequence.
1. Society 2. Home 3. Building 4. Place 5. Flate

S & I ersel F UH AYE HA H IARTT HW. |
g, FAST LI 3. ZId Y. W Y. Fole

A 3,1, 25, 4

B 532 1, 4

C 4,1, 3,5, 2

D 4,51, 3, 2

Answer C

Id 47

Question | Arrange the words given below in a meaningful sequence.
1. Man 2. Boy 3. Baby 4. Old man 5. Dead

S G I ersel @ U @rdeh A H Haredd HY. |
¢ e R osH 3Ry ¥ goT 9 7

A 3,2, 1, 4,5

B 2, 3,15, 4.

C 4,1, 3, 2, 5.

D 3,15 2, 4

Answer A

Id 48

Question | Arrange the words given below in a meaningful sequence.
1. Key 2. Door 3. Lock 4. Room 5. Switch on
S & I Ursel F UH T@YE HA H IARTT HW. |
g. I R GGl 3. dlell 8. AT 4. Wikl

A 51, 2 4,3

B 4,2, 1,5 3

C 1,3 2 4,5

D 1,2 3,5 4

Answer C




Id
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Question | Which of the following calendar years is similar to the calendar of the year 2003?
fAfFcaf@d # & fFa a¥ &1 FHesy a¥ 2003 & FHelsy 4T g2

A 2009

B 2010

C 2012

D 2014

Answer D

Id 50

Question | In a row of children Dipti is 9th from the left and Kashish is 13th from the right. when
they exchange their positions and then Dipti becomes 18th from the left. What is the new
position of Kashish from the right end of the row?
STdl T U 9fFd & QT o1 T Sl 3 T 9 o T IR H TAH ardr
IRF 13 aT g | I I HGH H HUAT FATT Scold ¢ dl GIied I TUTT 1T
3R ¥ 18 T @Y ST § , HITALA T ST 3R & AT TATed FATHT ?

A 22

B 25

C 27

D 36

Answer A

Id 51

Question | Find the next term in the following series.
726, X24,\V22,
Al s/@er & 3mTerm e Thot:
726, X24,\V22,

A T20

B w23

C K15

D J10

Answer A




Id
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Question | In a certain code language, “TANK” is coded as 7-26-13-16, then how will be coded the
word CARGO?
forell e oo A, “TANK" &I 7-26-13-16 & &9 & for@r Sfrar g,ar 38 se smwr
H CARGOSI &8 for@r Srwam?

A 24-26-9-20-15

B 24-26-9-20-12

C 24-26-18-20-12

D 23-01-9-20-12

Answer B

Id 53

Question | In the following question select the figure from a set of answer figure that can be formed
joining the figures given in question figure.
fAfaf@d uee & 3oX 3mhfa & T de @ R &1 TFT w ST 9o
Mpfd A QT 1T 3MTehst A s FARAT ST FeheTl

A

.
B

<>; X
Pae




D
X

Answer B

Id 54

Question | If the third Friday of a month is 16th what date is the fourth Tuesday of that month?
afe ATE & Y P HL6ANG BT 3 AE & MY HIaR B F ahG
grafr?

A 20th

B 22nd

C 27th

D 29th

Answer C




Id
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Question | In each of the following questions, which one of the four interchanges in signs and
numbers would make the given equation correct?
(3+4)+2=2
ﬁmﬁf@ammﬂﬁmwﬁaﬁﬂwwwﬁﬁg@w
I HISC HLM |
(3+4)+2=2

A +and+, 2and 3
+3R + 2 3R 3

B +and +, 2 and 4
+3K +,2 3R 4

C +and +, 3and 4
+ 3R +, 3 3R 4

D No interchange , 3 and 4
HIS XIS aTel, 3 3R 4

Answer A

Id 56

Question | How many triangles are there in the figure?
few arv o & Freqalt i Fear i adA?

A 24

B 14

C 28

D 20

Answer C




Id 57

Question | Find the number at question mark in the following image?

Aref@a afd & gy Rea w g&ar aa fifae?

2 |9
? |28

A 48
B 65
C 32
D 69
Answer B

Id 58

Question | Find out the odd word/letters/ number/number pair from the given alternatives.

fer 1T Qe & O /YA Usc/avT/aT=AT FHT IIT HIiford

A Mohammad Azharuddin
HIgFHG 3oTgeeg e

B Sunil Gavaskar
)

C Dhyan Chand
eTeTTIC

D Yuvraj Singh
IR e

Answer C




Id
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Question | If “@” denotes “added to”, “#” denotes “multiplied by”, “®” denotes “divided by” and
“%” denotes “subtracted from”, then which of the following equation is true?
Iie “@” T 3 “SSAT, 4 1 Y “UT HEAT, “®@ Fl Y “HET AR “%” T
3 “geEr g o FEfafda # F Fia-ar gHeor @@ g2

A 8@8®8#8%8=9

B 42 %26 ® 13#2 @ 8=146

C 19%84®4@3#4=12

D A1 %4®2#19@3=4

Answer B

Id 60

Question | Four friends A, B, C, D are sitting in a coffee shop. A and B are sitting face to face. D is
not sitting face to face. D is not sitting next of A but can see the facial expression of A
clearly. B is talking to C who is sitting opposite to him who are sitting together?
IR fAT A,B,C,DT& &l o7 H 8§ g1 ATAT B A A 8 g1 Db
AN FHS FIS 8 &1 D, AF 3T T W AL ST & Fhe] AF 7T &
TGl I TISC FT H ¢ ol ¢1B, CH Td X @l gl o o 39 A
JaT &1 HieT - PiT Ty F o1 87

A Aand C

B Aand D

C DandC

D Aand B

Answer A




Id
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Question | In the following sentences a word or phrase is written in bold .Choose the word nearest in
meaning to bold part.
The maidservant left the police station Contrite.

A Penitent

B Sore

C Angry

D Remorseless

Answer A

Id 62

Question | Select the word that is most similar in meaning.
Solitude

A Musical composition

B Aloneness

C True statement

D Single mindedness

Answer B

Id 63

Question | Choose the correct alternative out of the four
He told me that he ----- watching the movie.

A Is finished

B Was finished

C Had finished

D Not finished

Answer C




64

Question | In questions choose the word opposite in meaning to the given word
Plausible

A Inplausible

B Unplausible

C Implausible

D Displausible

Answer C

Id 65

Question | In the following questions, some parts have been jumbled up. You are required to
rearrange these parts, which are labeled P,Q,R and S to produce the correct sentence
Today , in the country /(P), offers the best connectivity, both/(Q), Kerala, among all states
/(R), in terms of telecom and datacom/(S)

A RPQS

B SQPR

C RQPS

D SPQR

Answer A

Id 66

Question | Pick out the most effective word from the given words to fill in the blanks to make the
sentence meaningfully completed
These medicines are --------------- for curing cold.

A Proper

B Real

C Effective

D Capable

Answer C




Id 67

Question | Select the option which contains the correct sentence among four
A An one -eyed person was seen roaming about the streets.

B A one -eyed person was seen roaming about the streets.

C The one — eyed person was seen roaming about the streets

D One — eyed person was seen roaming about the streets

Answer B

Id 68

Question |In each of the following questions, choose the correctly spelt word

A Hindrence

B Hindrance

C Hinderence

D Hinderance

Answer B

Id 69

Question | She was ---------- because all her plan had gone -------
A Elated , wild

B Dejected, splendidly

C Distraught , awry

D Frustrated , magnificently
Answer C




Id
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Question | In these questions, a sentence has been given in Active/Passive Voice. Out of the four
suggested alternatives, select the one which best expresses the same sentence
Passive/Active Voice.

They drew a circle in the morning.

A A circle was being drawn by them in the morning.

B A circle was drawn by them in the morning.

C In the morning a circle have been drawn by them.

D A circle has been drawing since morning.

Answer B

Id 71

Question | Which traffic police have launched 3-D Smart Traffic Signal?
forer Efther o & 331 TATE Efther et dlieer foham &2

A Jaipur

po)

B Chhattisgarh
SATHIG

C Mohali
HIgTelr

D Chandigarh

Answer C




Id
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Question | In which city, 10th edition of the FIFA U-20 Women's World Cup will be held?
R ger & T 3iE%-20 Afger  faed &9 &1 10 ar &R ST Rar
SITTa?
A China
et
B Nigeria
ATSSN AT
C India
ARG
D Qatar
CASES
Answer B
Id 73
Question | According to Third Bi-monthly Monetary Policy, 2019-20, What is current Bank Rate?
e efa -anf@e Aifgew Aifd | 2019-20 & AR, dAET S & F47 g2
A 5.75%
B 5.15%
C 5.40%
D 5.65%
Answer D
Id 74
Question | Who is India’s High Commissioner to Pakistan?
IfehEclel H $R T STURGFA dieT 82
A Ajay Bhushan Pandey
3T 0T 98
B Anup Wadhawan
3ol e
C sanjay Mitra
Torg fAar
D Ajay Bisaria
3o feaia
Answer D




Id 75

Question | Which day was observed as World Biofuel Day?
e Gt &t TR A9 sua fgaq@ & §T H HAAT IAT?

A 7 August
7 3IET

B 9 August
9379TEd

C 10 August
103791

D 8 August
8 3IrEd

Answer C

Id 76

Question | Which country has emerged the world’s second largest scrap importer?

PITAT S fAAT HT GAT FIH T HHY HATTH §F AT 872

A Turkey
@ﬁ
B India
AT
C South Korea
afayor SHIRET
D Japan
SITYTeT

Answer B




Id
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Question | Who has launched e-version of Rozgar Samachar?
fraer SR TATIR T S-HETIOT died fohar Iram g2
A Harsimrat Kaur Badal
AT PR aGel
B Thawar Chand Gehlot
YR Tg Igelld
C Subrahmanyam Jaishankar
FIEATVH STAA
D Prakash Javadekar
YaRIel SATASHT
Answer D
Id 78
Question | Which day was observed as International Day of the World's Indigenous Peoples?
g feor & farg & Tacel ool & FaUsET fad & § & AT ST 82
A 6 August
6 3ITEd
B 7 August
7 3ITEd
C 9 August
9 3HIrEd
D 10 August
10 3HITET
Answer C




Id

79

Question | Which State Government has signed an MoU with Vikram Sarabhai Space Centre (VSSC)
to develop Space Park?
T T5T TWER & TF I [Ald e & o fawa a9 daX
(ATHTHEY ) & ATT Teh FHSNAT AT W ek fhe g 2
A Kerala
el
B Maharashtra
HERISC
C Andhra Pradesh
3T e
D Telangana
RECICH
Answer A
Id 80
Question | Which day is observed as International Youth Day?
fore feaT Y g7 ATel HAWSET gar fead & &9 # HART STl g2
A 9 August
9 HITEd
B 12 August
12 3IEd
C 6 August
6 3ITEd
D 8 August
83T
Answer B




Id
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Question | In which city, 20th Edition of the International Indian Film Academy (IIFA) Awards will
be held?
ford eEY H HARTSET ARAT hor epresl (FMSIHSUHT) RWERRT &M 20aT
FEROT 3T forar Srwemm?

A Dehradun

B Kolkata
hIeTehIdT

C New Delhi
g feeel

D Mumbai
o] E

Answer D

Id 82

Question | Which sports body agreed to come under the ambit of the National Anti-Doping Agency
(NADA)?
AT fohdhe gl 15 (SIAHI3S) A TE-SITUT THAHT (ATST) & RN &
3Tel & IR g I

A I0OA
3TS3NT

B SAI
THUITS

C BCCI
CIRIE K IS

D TTFI
SIETH3TS

Answer C




Id

83

Question | Who has become the first Indian to win a world title in motorsports?
Pl Al TAeH H fag A Siiasr arell ggell ARG &1 315 g7
A Vijaya Lakshmi Pandit
fasrar et afsa
B Chandrima Shaha
afeaT g
C Rani Rampal/
AT JHIT
D Aishwarya Pissay
et e
Answer D
Id 84
Question | A. Shankar Rao has been appointed as Director General of Police of which state?
T Y @ Y TR TeF 1 AT I AgrfAcers fAged famar amr g2
A Uttar Pradesh
ESTE )
B Madhya Pradesh
HqET YT
C Sikkim
afeaa
D Andhra Pradesh
3T e
Answer C




Id

85

Question | With which company, Reliance Jio has partnered for cloud infrastructure?
FH FUr & T Rergd@ O o Foll38 SHRCFaR & TolT ABIGRT &I §7?
A IBM
3SdTH
B WhatsApp
cglcauy
C Google
N
D Microsoft
HATSHIATFC
Answer D
Id 86
Question | Women's T20 Cricket has been included in Commonwealth Games in 2022. It will held in
which country?
Afgem € 20 fohohe T 2022 & IScHST Weall H A fohar am g1 I8 fovd
&er F 3mAfaa gem?
A Birmingham, England
g
B Tokyo, Japan
[ACTIRCIIC
C Paris, France
D Beijing, China
ST | AT
Answer A




Id
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Question | Which state has been ranked first at the India Child Well-Being Index?
HRT ST SedoT Fashich H fhd T &I JUHA T fGar I/ g2
A Uttar Pradesh
3T 92T
B Kerala
el
C Madhya Pradesh
qET USer
D Andhra Pradesh
3T e
Answer B
Id 88
Question | Prime Minister Narendra Modi announced 'Jal Jeevan' mission to make drinking water
available to all households. How much amount will spend on it?
TTAHAT oG AlGT of T 8 H Ued I Geil 3TAAYT el & TolT ‘STel SiideT
e 1 givom 1| 37 9 fhder IR T geie
A 1.0 lakh crore
1.0 9T I3
B 1.5 lakh crore
1.5 oME S
C 2.5 lakh crore
2.5 A RS
D 3.5 lakh crore
3.5 @ IS
Answer D




Id

89

Question | Who is the writer of a book on Jammu & Kashmir' story from 1889 to 2019 "Kashmir's
Untold Story: Declassified"?
1889 & 2019 T STFH-HYHR &l FHgll T Ueh fhdld ,HAR 3feles T
BFenf@wEs” & o@d S g2
A Igbal Chand Malhotra
ghdlel TG Hogldl
B Maroof Raza
AR IST
C Arundhati Roy
pyfa I
D Both 1 and 2
a1 3R 2
Answer D
Id 90
Question | Who was conferred with Vir Chakra on Independence Day?
frae! Tadaar fdad W dR I 8@ FFATAd fRar aram?
A Binod Kumar
fSeile FAR
B Arvind Singh
3RFE R
C B K Sinha
&t & @egr
D Abhinandan Varthaman
3fAArea aEiATT
Answer D




Id
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Question | Who is the writer of a Book on Sridevi, "Sridevi: Girl Woman Superstar"?
A o T Thelle, “HNEdT: el FHA FIECR" & IGeh HieT § 2
A Boria Majumdar
SIRAT AHER
B Arun Tiwari
3107 faary
C Satyarth Nayak
ooy A
D Sanjaya Baru
ToTaT §T%
Answer C
Id 92
Question | Who has launched the country's largest sanitation survey Swachh Survekshan Grameen-
2019?
fohdel 1 T G F3T Teodl FAd&TUT Faes HIeor AT -2019 & fohar g2
A Gajendra Singh Shekhawat
ol g d@mad
B Prakash Javadekar
ORI ICECTS
C Dharmendra Pradhan
gHg Tl
D Hardeep Singh Puri
g g oo
Answer A




Id
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Question | Which state government has decided to launch a new initiative ‘10 Hafte, 10 Baje, 10
Minute — Har Ravivar, dengue par war’?
8 T THR & Th &5 Tgd 10 §%d, 10 a1, 10 fAsTe- &Y Adar S W
AR & He HT e har g2
A Uttar Pradesh
ST E)
B Pondicherry
C Laddakh
olcald
D New Delhi
g fealr
Answer D
Id 94
Question | On which day, First death anniversary of former Prime Minister Atal Bihari Vajpayee was
observed?
ford feeT T 9@ TureTas e T areuly &1 ggell quaiadl #ar$ a1$ A
A 14 August
14 3HITEd
B 15 August
15 3MITET
C 16 August
16 3TEd
D 17 August
17 3HIrEd
Answer C




Id
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Question | What is the name of world's biggest project for teacher training under which more than 42
lakh teachers will be trained?
TreTer gfAretor & fow Qe &1 ged 937 IRATSAT FT 17 F47 §, 99 dgd
42 org & 3fOe gt o gfAfera fhar seem
A STRIVE
Eelgd
B SWAYAM
FIIH
C NISHTHA
forsaT
D SANKALP
Hhed
Answer C
Id 96
Question | In which state, first Central Institute of Chemical Engineering & Technology (CICET)
will be set up?
frg Tsg & ugal e Taafas seifaaRer 3k stoeafdr gxeas
@SS TUTRT fFar STem?
A Uttar Pradesh
3 9G
B Madhya Pradesh
HqET Heer
C Guijarat
i)
D Andhra Pradesh
3TY ST
Answer C




Id

97

Question | In which city, Union Minister of Health and Family Welfare Dr. Harsh Vardhan
inaugurated of Atal Bihari Vajpayee Institute of Medical Sciences?
frg T H HET Tareey 3R 9REGR Fearor HA 3 gNadeT o 3fed S9gy
ATt FAfehcar fa=iTel HEATT &7 3cHre fohar?

A Dehradun

B Kolkata
IeTehIdT

C Mumbai
o] E

D New Delhi
g feeel

Answer D

Id 98

Question | Which state government announced 32% reservation for STs, 13% for SCs and 27% for
OBCs?
fra 5T & TEd & AT 32%, TEET & T 13% 3 3N & T 27%
3TRETOT T GIYOTT T g2

A Guijarat
pe)

B Himachal Pradesh
feATTrer ucer

C Madhya Pradesh
qET USor

D Chhattisgarh
SIS

Answer D




Id

99

Question | In which city, World Skills International Competition was held?
fore erex & faeg ierer Jiausd gfawfarar smfad g2
A Tokyo, Japan
ACTIRCIEIC
B Kazan, Russia
holled, ®H
C Beijing, China
ifSter, A
D India, New Delhi
HR, 715 el
Answer B
Id 100
Question | Which state government will set up Atal Bihari Vajpayee residential schools for children
of labourers in all 18 divisions of the state?
I Mo AHR AT & Fl 18 Hsell H HAlqy & Fedl & v 3reer Wy
IS AT fAeITe A1 Hief?
A Uttar Pradesh
3 9SG
B Rajasthan
T AT
C Chhattisgarh
SIS
D Meghalaya
AT
Answer A




